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Study Guide 2
Fall 2016
Professor: Mohammed Kaabar
Course ID: (27488) and (27501)

Student’s Name:. /%meé Kdd/é%

Student’s ID:. ==& loafr et — ...
Note: This study guide contains practice questio

the second exam in Elementary Algebra.
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ns that are very useful for your preparation for

s false EXPLAIN

Problem 1: Determine whether the following is TRUE or FALSE and if it 1

Linear inequality is a mathematical expression that has an equal sign only. ¢@| ./W iqv «A"(

b. Suppose that a solution for a linear inequality is —2 < < 1, then this solution in the

interval notation can be writtenas (|-2 <y < 1. Co 13 1 [ No %xm
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Problem 2: Answer each of the following:
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lowing:

(—2x> + 3x% — 2x% + 1x° +5x6)
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- (12x° — 12x2 + Ox7 + 3x2 + 8x*)
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Problem 5: Multiply the following:
(2x2 + 2xt — 12x9)
(x2+x+1)
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ve each of the following: =

B2+ 5 < ~24+12

. |
10+ 12 < 2 — 21
b D+1—1 2
¢)—128° + 118 < (- 2204 +108 + -6
N5z + 2| = -
 :
B2 L 2.0 1| > —4° =
(b Rl 4 |5y — 5% + 15y°]) < —4
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Problem 8: Find the slope of the line that passes through each pair of

xgl \’ e .
Part a: (~6,5) and (6,2)
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Part b: (—1,-5) and (0,0)
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Problem 9: Fmdtheeq?tlo ofthelmewﬂhgwmpopaucs
a. Ahnepassmthrough(o ——Z)andxspetpmdxcuhrmthchnr
o 1 -
/e.‘,ﬁx +12x —13y° +5y' = 5 ’1‘2. v

b. A line passes through (1, —2) and has a2 horizontal slope.







